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B.Com. (CS) DEGREE EXAMINATION,  
APRIL 2021 & 
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COMMERCIAL LAW 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is Valid agreement? 

 ö\À»zuS  Ehß£õk GßÓõÀ GßÚ? 

2. What is Contingent Contract? 

 Pmk¨£õmk J¨£¢u® GßÓõÀ GßÚ? 

3. What is consensus-ad-idem? 

 J¸ªzu P¸zx GßÓõÀ GßÚ? 

4. What is Lawful Object? 

 \mh¨£i¯õÚ ÷|õUP®/SÔU÷PõÒ GßÓõÀ GßÚ? 

5. What is Devolution? 

 AvPõμ¨ £QºÄ GßÓõÀ GßÚ? 
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6. What is Waiver? 

 ÂkuÀ/Â»USuÀ GßÓõÀ GßÚ?  

7. Give the meaning of Quantum Merit. 

 SøÁ¯z uSv Gß£uß ö£õ¸Ò u¸P. 

8. Who is Surety? 

 ¤øn¯õÎ Gß£Áº ¯õº? 

9. What is Pledge? 

 Aøh©õÚ® GßÓõÀ GßÚ? 

10. Differentiate between Bailment and Pledge. 

 ¤øn¯® ©ØÖ® Aøh©õÚzøu ÷ÁÖ£kzx. 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Which agreements are Contracts? 

   GÆÂu Ehß£õkPÒ J¨£¢u[PÍõQßÓÚ? 

Or 

 (b)  Distinguish between Void, Voidable and illegal 
agreements. 

   ö\À», ö\À»zuS ©ØÖ® \mh Â÷μõu Ehß£õkPøÍ 

÷ÁÖ£kzx. 

12. (a) State the rules of a Valid Offer. 

   ö\À»zuS •øÚÂØPõÚ Âv•øÓPøÍU TÖ. 

Or 

 (b)  What considerations are lawful? 

   \mh¨§ºÁ©õÚ £¯ßPÒ ¯õøÁ? 
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13. (a) Under what circumstances a contract need not be 
performed?  

   G¢öu¢u `Ì{ø»PÎÀ J¨£¢u[PøÍ 

|øh•øÓ£kzx ÷uøÁ°Àø»? 

Or 

 (b)  What are the rules for appropriation?  

   J¨£¢u JxUQØS›¯ ÂvPÒ ¯õøÁ? 

14. (a) What is continuing Guarantee? When and how is it 
revoked? 

   öuõhº ö£õÖ¨¦Öv GßÓõÀ GßÚ? G¨ö£õÊx ©ØÖ® 

GÆÁõÖ Ax v¸®£¨ ö£Ó¨£kQÓx? 

Or 

 (b)  When is an agent personally liable on a Contract? 

   G¨ö£õÊx J¸ •PÁº J¨£¢uzvØS 

uÛ¨ö£õÖ¨£õQÓõº? 

15. (a) State the duties of Bailor. 

   J¨£øh¨£Á›ß Phø©PøÍU TÖ. 

Or 

 (b)  Explain the types of Lien. 

   E›ø©PÎß ÁøPPøÍ ÂÍUS. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. State the essentials of a Valid Contract. 

 ö\À»zuS J¨£¢u[PÎß •UQ¯U TÖPøÍU TÖP.  
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17. What is the law regarding contracts entered into with a 
minor? 

CÍÁ¸hÚõÚ J¨£¢u[PÒ SÔzuõÚ \mhU P¸zxPÒ 

¯õøÁ? 

18. How is the Contract Discharged? 

 G¨£i J¨£¢u[PÒ •iÄ ö£ÖQßÓx? 

19. State the rights of an indemnity holder when sued? 

 CÇ¨ö£vº EÖvö©õÈ Eøh÷¯õ›ß E›ø©PÒ ¯õøÁ? 

20. State the duties of common carriers and also their rights.  

 ö£õx \μU÷PØÖ£Á›ß E›ø©PÒ ©ØÖ® Phø©PøÍU TÖP. 

 

 
———————— 
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 Part A  (10  2 = 20) 

Answer all the questions. 

1. What is Winding Up? 

{ÖÁÚ Pø»¨¦ GßÓõÀ GßÚ? 

2. What do you mean by Contributory? 

£[PÎ¨£õÍº £ØÔ }Âº AÔÁÚ ¯õøÁ? 

3. What is Holding Company? 

¤i¨¦ {Ö©® GßÓõÀ GßÚ? 

4. What do you mean by Contingent Liabilities? 

 öuõhºa]¯õÚ ö£õÖ¨¦ £ØÔ }Âº AÔÁÚ ¯õx? 

5. What is  Premium? 

 •øÚ©® GßÓõÀ GßÚ? 
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6. What is insurance company accounts?  

 Põ¨¥mk {ÖÁÚ PnUS GßÓõÀ GßÚ? 

7. What do you mean by bank accounting? 

Á[Q PnUQ¯À £ØÔ }Âº AÔÁÚ ¯õøÁ? 

8. Give a short note on payment of Dividend. 

DÄz öuõøP ö\¾zuÀ £ØÔ ]Ö SÔ¨¦ u¸P. 

9. What do you mean by Tally? 

 hõ¼ £ØÔ }Âº AÔÁÚ ¯õøÁ? 

10. Write some advantages of Tally. 

 hõ¼°ß |ßø©PÒ ]»ÁØøÓ GÊxP. 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) Draw the format of form of Liquidators financial 
statement of account. 

  Pø»¨£õÍ›ß CÖv AÔUøP PnUQ¯¼ß ©õv›¨ 
£iÁzvøÚ ÁøμP. 

Or 

 (b) The following particulars relate to a limited 
company which went into voluntary liquidation : 

 Rs. 

Preferential Creditors 25,000 

Unsecured Creditors 58,000 

6% Debentures 30,000 
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  The assets realised Rs. 80,000. The expenses of 
liquidation amounted to Rs. 1,500 and the 
liquidator's remuneration was agreed at 2 2

1 % on 
the amount realised and 2% on the amount paid to 
unsecured creditors including preferential creditors.  

  Show the liquidator’s financial statement of 
account. 

  Pø»¨¤ØSÒÍõQ¯ J¸ {Ö©zvß Â£μ[PÒ R÷Ç 
uμ¨£mkÒÍx. 

 ¹. 

•ßÝ›ø© PhÚõÎPÒ 25,000 

¤øn°À»õU PhÚõÎPÒ 58,000 

6% Phß £zvμ[PÒ 30,000 

  ö\õzxUPÒ ¹. 80,000 US wºÄ ö\´¯¨£mhÚ. wºÄa 

ö\»ÄPÒ ¹.1,500. wºÄ ö\´¯¨£mh öuõøP°À 2 2
1 % 

Pø»¨£õÍ¸US Fv¯•® 2% ¤øn°À»õU 
PhÚõÎPÐUS •ßÝ›ø© PhÚõÎPÒ EÒ£h 
öPõkUP¨£mkÒÍx. Pø»¨£õÍ›ß CÖv¨£mi¯ø» 
u¯õº ö\´P. 

12. (a) Give a short note on Minority interest and cost of 
control or good will. 

]Ö£õßø© Ámi ©ØÖ® Pmk¨£õmk ö\»Ä AÀ»x 
|Øö£¯º £ØÔ ]Ö SÔ¨¤øÚ u¸P. 

Or 

 (b) For the following  information given below, prepare 
capital profits for the Holding Company.  

                                             Rs. 

  (i) General Reserve 1.4.14 60,000 

  (ii) Profit and Loss A/C 1.4.14 20,000   

  (iii) Current year profit before 30.6.14 10,000 

  (iv) Preliminary expenses   6,000 
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  R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PøÍU öPõsk ¤i¨¦ 
{Ö©zvÀ ‰»uÚ C»õ£zøuU PnUQkP. 

                                                                                ¹. 

  (i) ö£õxUPõ¨¦ 1.4.14 AßÖ 60,000 

  (ii) C»õ£ AÀ»x |mh P/S 1.4.14 AßÖ 20,000   

  (iii) |h¨¦ Bsk C»õ£® 30.6.14 •ß¦ 10,000 

  (iv) öuõhUPa ö\»ÄPÒ   6,000 

13. (a) The life assurance fund of an insurance company on 
31.3.16 showed a balance of Rs. 87,76,500. It was 
found later that the following were not taken into 
account. 

 Rs. 
Dividend from investments 4,80,000 
Income Tax on above 48,000 
Bonus in reduction of premium 8,77,500 
Claim covered under re-insurance 4,23,000 
Claim intimated but not accepted by company 7,62,000 

  Ascertain the correct balance of fund. 

   31.3.16 AßøÓ¯ ÷uv°À Põ¨¥k P®ö£Û°ß B²Ò 
Põ¨¥k {v C¸¨¦ ¹.87,76,500. RÌPsh ÂÁμ[PÒ 
PnUQÀ Gkzx öPõÒÍÂÀø» GÚ ¤ß |õÎÀ 
PshÔ¯¨£mhx. 

 ¹. 

•u½k «uõÚ £[Põuõ¯® 4,80,000 
÷©ØPshuß «uõÚ Á¸©õÚ Á› 48,000 
•øÚ©® ÷©¿v¯® £¯ß£kzv SøÓUP 8,77,500 
SøÓUP¨£mh •øÚ©® ©ÖPõ¨¥miß RÌ 
EÒÍ ÷Põ›UøP öuõøP 4,23,000 

öu›ÂUP¨£mh ÷Põ›UøPPÒ BÚõÀ 
P®ö£Û AÝ©vUP¨£hõuøÁ  7,62,000 

  \›¯õÚ B²Ò {vø¯ PnUQkP. 

Or 
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 (b) What are the steps involved in preparation of 
Consolidated Balance Sheet? 

  J¸[Qøn¢u C¸¨¦{ø» SÔ¨¦ u¯õ›¨¤ß 
{ø»PÒ ¯õøÁ? 

14. (a) Explain the classification of bank advances. 

  Á[Q •ß öuõøP°ß ÁøPPøÍ¨ £ØÔ ÂÍUSP. 

Or 

 (b) From the following  balances prepare the profit and 
loss A/C of Indian bank in the revised format : 
interest received Rs. 4,32,260, Discount received Rs. 
34,140, Bad debts Rs. 1,18,170, Interest on deposits 
Rs. 1,50,420, General expenses Rs. 1,72,420, 
Commission received Rs. 34,240. Rebate on bills 
discounted Rs. 62,380. 

  R÷Ç öPõkUP¨£mkÒÍ C¸¨¦PÎ¼¸¢x C¢v¯ 
Á[Q°ß C»õ£ |mhU PnUQøÚ ©Ö©õv› 
£iÁzvÀ u¯õ›UPÄ®. ö£Ó¨£mh Ámi ¹.4,32,260 
uÒÐ£i ö£Ó¨£mhx ¹.34,140 ÁõμõU Phß  
¹. 1,18,170. ÷\ª¨¦ «uõÚ Ámi ¹.1,50,420 ö£õxU 
ö\»ÄPÒ ¹.1,72,420. uμS ö£Ó¨£mhx ¹.34,240, 
PÈÄ ö\´¯¨£mh Esi¯À «uõÚ uÒÐ£i ¹. 
62,380. 

15. (a) Draw the Gatway of Tally. How to change the date 
and time? 

  hõ¼°À ~øÇÁõ°ø» ÁøμP. ÷|μ® ©ØÖ® 
÷uv°øÚ GÆÁõÖ ©õØÖÁx? 

Or 

 (b) Explain the uses of Tally. 

  hõ¼°ß £¯ßPøÍ u¸P. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Draft the model format of the balance sheet of a banking 
company. 

 J¸ Á[Q {Ö©zvß C¸¨¦{ø»U SÔ¨¤ß ©õv›¨ 
£iÁzvøÚ ÁøμP. 
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17. The summarised balance sheets of H Ltd. and S Ltd. as 
on 31.12.2012 are given below : 

Liabilities H Ltd. 
Rs. 

 S Ltd. 
Rs. 

 Assets H Ltd.
Rs. 

S Ltd.
Rs. 

Equity share of     Sundry assests 5,00,000 1,70,000

Rs.10 each 5,00,000  1,00,000  8000 shares  

Reserves 80,000  30,000  in S Ltd. 1,40,000 – 

Profit and       

Loss A/C 60,000  40,000   

 6,40,000  1,70,000   6,40,000 1,70,000

 S Ltd. had the reserve of Rs. 30,000 when H Ltd. 
acquired the shares in S Ltd. but the P and L A/C balance 
of S Ltd. was fully earned after the purchase of shares.  
S Ltd. decided to issue bonus shares out of the post 
acquisition profit in the ratio of 2 shares for every  
5 shares held. Calculate the cost of control before the 
issue of bonus shares and after the issue of bonus shares. 

 31.12.2012 AßøÓ¯ H ¼m. ©ØÖ® S ¼m. {Ö©[PÎß 
C¸¨¦{ø»U SÔ¨¦PÒ R÷Ç öPõkUP¨£mkÒÍÚ. 

ö£õÖ¨¦PÒ H ¼m. 
¹. 

 S ¼m. 
¹. 

 ö\õzxUPÒ H ¼m.
¹. 

S ¼m.
¹. 

¹. 10 Ãu•ÒÍ     £Ø£» 

\õuõμn¨     ö\õzxUPÒ 5,00,000 1,70,000
£[SPÒ 5,00,000  1,00,000  S ¼m. {Ö©zvÀ

Põ¨¦PÒ 80,000  30,000  8000 £[SPÒ 1,40,000 – 
C»õ£ |mhU        
P/S 60,000  40,000   
 6,40,000  1,70,000   6,40,000 1,70,000

 H ¼m., S ¼m. {Ö©zvÀ £[SPÒ Áõ[Q¯ ÷£õ÷u S ¼m. 
{Ö©zvÀ ¹. 30,000 Põ¨¦ C¸¢ux. BÚõÀ S ¼m. 
{Ö©zvß C»õ£ |mhU PnUS C¸¨¦ •ÊÁx® £[SPÒ 
Áõ[Q¯ ¤ßÚº \®£õvzux BS®. S ¼m. £[SPÒ Áõ[Q¯ 
¤ßÚº \®£õvzu C»õ£zvÀ 5 £[SPÐUS  
2 £[SPÒ Ãu® FUP¨ £[SPÒ ÁÇ[P •iöÁkzux. 
FUP¨ £[SPÒ öÁÎ°kÁuØS •ßÚ¸® ¤ßÚ¸® 
Pmk¨£õmk Âø»ø¯¨ PnUQhÄ®. 
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18. How do you classify life insurance claims? Explain. 

B²Ò Põ¨¥mkU ÷Pm¦›ø©ø¯ GÆÁõÖ 
ÁøP¨£kzxÁõ´? ÂÍUSP. 

19. On 31.3.2014 the Rayal Bank Ltd. held the following bill : 
Date 2014 Amount  

(Rs.) 
Term (Months) Discounted at % p.a.

Feb. 17 7,30,000 4 17 

Feb. 7 1,40,000 3 18 

March 3,64,000 3 17.5 

 Calculate the rebate on bills discounted amount. 

 μõ¯À Á[Q 31.3.2014 AßÖ RÌPsh Esi¯ÀPøÍ 
øÁzxÒÍx. 

÷uv 2014 öuõøP (¹.) Põ»® (©õu[PÒ) uÒÐ£i (%)

¤¨μÁ› 17 7,30,000 4 17 

¤¨μÁ› 7 1,40,000 3 18 

©õºa 3,64,000 3 17.5 

 uÒÐ£i ö\´¯¨£mh Esi¯¾UPõÚ PÈÄz öuõøPø¯ 
PõnUQkP. 

20. Bring out the significance and limitation of Tally in 
accounting. 

 PnUQ¯À hõ¼°ß •UQ¯zxÁ® ©ØÖ® SøÓ£õkPÒ £ØÔ 
GkzxøμUP. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define management. 

 ÷©»õsø© PnUQ¯ø» Áøμ¯ÖUP. 

2. Write some functions of management accounting. 

 ÷©»õsø© PnUPõÍ›ß £oPÒ ]»ÁØøÓ GÊxP.   

3. Define cost accounting. 

 ö\»Ä PnUQ¯ø» Áøμ¯ÖUP.  

4. Give the formula for Debt-equity ratio. 

 Phß £[S ÂQuzvß `zvμ® u¸P.  

5. What do you mean by fund flow? 

 {v Kmh® £ØÔ }Âº AÔÁÚ GßÚ? 
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6. What is common size statement? 
 ö£õxÁõÚ AÍÄ AÔUøP GßÓõÀ GßÚ? 

7. Write short note on cash budget. 
 £nz vmhªhÀ £ØÔ ]Ö SÔ¨¦ u¸P.  

8. Define budget. 
 vmhªkuÀ Áøμ¯ÖUP.  

9. What do you mean by ZBB? 

 ZBB GßÓõÀ GßÚ? 

10. Give the formula for P/V ratio. 
 C»õ£ £[PÎ¨¦ ÂQuzvß `zvμ® u¸P.  

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the objectives of management accounting. 
  ÷©»õsø© PnUQ¯¼ß ÷|õUP[PøÍ £ØÔ 

ÂÁ›UP.  

Or 

 (b) Explain the advantages of management accounting. 
  ÷©»õsø© PnUQ¯¼ß {øÓPøÍ £ØÔ ÂÁ›.  

12. (a) Calculate the trend percentages from the following 
figures of Preethi & Co. taking 2005 as the base and 
interpret them. 

Year Sales   Stock Rs. in (laksh)  
profit before tax

2005 1,881 709 321 

2006 2,340 781 435 

2007 2,655 816 458 

2008 3,021 944 527 

2009 3,768 1,154 672 
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  R÷Ç öPõkUP¨£mkÒÍ uPÁÀPøÍ öPõsk ÷£õUS 
\uÃuzvøÚ ¥›zv Aß ÷Põ Âß 2005 B® 
Bsiß Gsøn AizuÍ©õP öPõsk 
PnUQhÄ®.  

Á¸h® ÂØ£øÚ £[S (¹£õ´ »m\zvÀ)  
Á›US •¢øu¯ »õ£®

2005 1,881 709 321 

2006 2,340 781 435 

2007 2,655 816 458 

2008 3,021 944 527 

2009 3,768 1,154 672 

Or 

 (b) Calculate the earning per share (EPS) from the 
following data net profit before tax Rs. 50,000. Tax 
rate 50%. 10% preference share capital (Rs. 10 each) 
Rs. 50,000. Equity shares capital (Rs. 10 each)  
Rs. 50,000. 

  R÷Ç öPõkUP¨£mhÁØøÓ öPõsk J¸ £[Qß 
Á¸©õÚzvøÚ PnUQk.  

  Á›US •¢øu¯ {Pμ »õ£® ¹. 50,000, Á› ÂQu® 
50% 10% Â¸¨£ •u½mk £[S (¹. 10 
JÆöÁõßÔØS®) ¹. 50,000 £[S •u½k (¹. 10 
JÆöÁõßÔØS®) 
¹. 50,000 

13. (a) From the following information, calculate funds, 
from operation of the second year. 

 I year II year 

Profit and loss a/c 25,000 40,000 

General reserve 40,000 45,000 

Good will 7,000 4,000 

Preliminary expenses 5,000 3,000 

Provision for depreciation on
machinery 

10,000 12,000 
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  R÷Ç öPõkUP¨£mkÒÍ uPÁÀPøÍ öPõsk 

ö\¯À£õmiß ‰»©õÚ {v°øÚ Cμshõ® 

BsiØS PnUQkP.  

 •uÀ 

Á¸h® 

Cμshõ® 

Á¸h® 

»õ£ |mh PnUS 25,000 40,000 

ö£õxÁõÚ C¸¨¦ 40,000 45,000 

|Øö£¯º 7,000 4,000 

•uÀ{ø» ö\»ÄPÒ 5,000 3,000 

C¯¢vμ ÷u´©õÚzvØPõÚ HØ£õk 10,000 12,000 

Or 

 (b) From the following balance sheets of A.ltd., Prepare 

a cash flow statement. 

Liabilities June 30

1999 

June 30 

2000 

Assets June 30

1999 

June 30

2000 

 Rs. Rs.  Rs. Rs. 

Share capital 8,000 8,500 Land 5,000 5,000

Retained earning 1,450 2,450 Plant 2,400 3,400

Creditors 900 500 Debtors 1,650 1,950

Mortgage loan – 500 Stock 900 700

   Cash 400 900

 10,350 11,950  10,350 11,950
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  ‘A’ {ÖÁÚzvß C¸¨¦{ø» PnUQ¯ø» öPõsk 
öμõUP Kmh AÔUøP°øÚ u¯õº ö\´P.  

ö£õÖ¨¦PÒ áüß 30 
1999 

áüß 30 
2000 

ö\õzxUPÒ áüß 30
1999 

áüß 30
2000 

 ¹. ¹.  ¹. ¹. 
£[S •u½k 8,000 8,500 {»® 5,000 5,000
uUP øÁUP¨£mh    ö£õÔ 2,400 3,400
  Á¸Áõ´ 1,450 2,450 PhÚõÎPÒ 1,650 1,950
PhÜ¢÷uõº 900 500 £[S 900 700
Ah©õÚ Phß – 500 £n® 400 900
 10,350 11,950  10,350 11,950

14. (a) From the following particulars, prepare 
manufacturing overhead budget for the quarters 
ending 31-12-08. 

  Budget output during the quarters 5,000 units 

  Fixed overheads   Rs. 30,000 

  Variable overheads Rs. 15,000 (Varying at Rs. 5 per 
unit) 

  Semi-Variable overheads Rs. 15,000 (40% fixed 60% 
varying at Rs. 3 per unit) 

  R÷Ç öPõkUP¨£mkÒÍ uPÁÀPøÍ öPõsk EØ£zv 
ö\»ÃÚ vmhzvøÚ 31.12.08 ß CÖv Põ»õsiØS 
u¯õº ö\´P.  

  vmhªh¨£mh öÁÎ±k |h¨¦  
  Põ»õsiÀ    5,000 A»SPÒ 

  {ø»¯õÚ ö\»ÃÚ[PÒ  ¹. 30,000 

  ©õÖ® ö\»ÃÚ[PÒ ¹. 15,000 (J¸ A»QØPõÚ 
©õØÓ® ¹. 5) 

  Aøμ&©õØÓ ö\»ÃÚ[PÒ ¹. 15,000 (40% 
{ø»¯õÚx 60% ©õÖÁx J¸ A»S ¹. 3&À) 

Or 

 (b) Explain the need and importance of capital 
budgeting. 

  ‰»uÚ vmhªh¼À ÷uøÁ ©ØÖ® •UQ¯zxÁzøu 
ÂÁ›.  
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15. (a) Prepare marginal cost statement from the following 
particulars: 

Particulars: Rs. 

Variable cost 4,500

Direct wages 2,500

Factory overheads 1,500

 8,500

Fixed cost: 

Administrative expenses 1,250

Total cost 9,750

Profit 5,250

Sales 15,000

  ÂÎ®¦ ö\»Ä AÔUøP°øÚ R÷Ç uμ¨£mh 
uPÁø» öPõsk u¯õº ö\´P.  
ÂÁμ[PÒ : ¹. 
©õÖ® ö\»Ä 4,500
÷|μi T¼ 2,500
öuõÈØTh ö\»ÂÚ[PÒ 1,500
 8,500
{ø»¯õÚ ö\»Ä : 
{ºÁõPa ö\»ÄPÒ 1,250
ö©õzu ö\»Ä 9,750
»õ£® 5,250
ÂØ£øÚ 15,000

Or 

 (b) A company has earned a profit of Rs. 30,000 during 
the year 1999 if the marginal cost and selling price 
of a product are Rs. 8 and Rs. 10 per unit 
respectively. Find out the margin of safety. 

  J¸ {ÖÁÚ® ¹. 30,000 »õ£©õP ö£ØÓx 1999&À 
Cuß ÂÎ®¦ ö\»Ä ©ØÖ® ÂØ£øÚ Âø» J¸ 
ö£õ¸ÐUS ¹. 8 ©ØÖ® ¹. 10 J¸ A»QØS ÂÍ®¦ 
£õxPõ¨¤øÚ PshÔP.  
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Distinguish financial and management accounting. 

 {v PnUQ¯À ©ØÖ® ÷©»õsø© PnUQ¯À 
÷ÁÖ£kzxP.  

17. Calculate operating profit ratio and net profit ratio. 
 Rs. 

Sales 2,00,000

Gross profit 70,000 

Selling expenses 10,000 

Administration expenses 20,000 

Income from investments 22,000 

loss due to fire 12,000 

 C¯UP »õ£ \μõ\› ©ØÖ® {Pμ »õ£ \μõ\›°øÚ PnUQkP.  

 ¹. 

ÂØ£øÚ 2,00,000
ö©õzu »õ£® 70,000 
ÂØ£øÚ ö\»Ä 10,000 
{ºÁõP ö\»ÄPÒ 20,000 
•u½miß ‰»©õÚ Á¸©õÚ® 22,000 
w°ß ‰»©õÚ |mh® 12,000 

18. After taking into account the under mentioned items, 
Jain Ltd. made a net profit of Rs. 1,00,000 for the year 
ended 31st Dec.1999. 

Rs. 

Loss and sales of machinery 10,000

Depreciation on building 4,000

Depreciation on machinery 5,000
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Rs. 

Preliminary expenses written off 5,000

Provision for taxation 10,000

Good will written off 5,000

Gain on sale of buildings 8,000

             Find out cash from operations. 

 R÷Ç öPõkUP¨£mkÒÍ uPÁÀPøÍ PnUQÀ Gkzu ¤ß¦, 
öá°ß {ÖÁÚzvß {Pμ »õ£® ¹. 1,00,000 31.12.1999 
AßÖ.  

¹. 

C¯¢vμ ÂØ£øÚ°ÚõÀ BÚ |mh® 10,000

Pmih ÷u´©õÚ® 4,000

C¯¢vμ ÷u´©õÚ® 5,000

•ußø© ö\»ÄPÒ SøÓUP¨£mhx 5,000

Á› Âv¨¦ 10,000

SøÓUP¨£mh |Øö£¯º 5,000

Pmih ÂØ£øÚ°ß ‰»©õÚ »õ£® 8,000

 C¯UPzvß ‰»©õÚ £nzvøÚ PshÔP.  

19. Draw up a flexible budget for overhead expenses on the 
basis of the following data and determine the overhead 
rates at 70%, 80% and 90% plant capacity. 

 
At 70% 
capacity

 At 80% 
capacity

At 90% 
capacity

 Rs.    Rs. Rs. 

Variable Overheads :     

Indirect Labour – 12,000 – 
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At 70% 
capacity

 At 80% 
capacity

At 90% 
capacity

 Rs.    Rs. Rs. 

Stores including spares – 4,000 – 

Semi-variable Overheads :    

Power (30% fixed, 70% 
variable) – 20,000 – 

Repairs and maintenance (40% 
variable) – 2,000 – 

Fixed Overheads :    

 Depreciation – 11,000 – 

 Insurance – 3,000 – 

 Salaries – 10,000 – 

Total Overheads – 62,000 – 

 Estimate direct labour hours: 1,24,000 hrs. 

 ö\»ÃÚ[PÎß uPÁÀPøÍ öPõsk ©õÖ® vmhzvøÚ 
ö\»ÃÚ[PÎß ©v¨¤øÚ 70%, 80% ©ØÖ® 90% GßÓ 
C¯¢vμ öPõÒ•uø» öPõsk u¯õº ö\´P.  

 
70% 

öPõÒÍÍÄ 
¹. 

80% 
öPõÒÍÍÄ 

¹. 

90% 
öPõÒÍÍÄ 

¹. 

©õÖ® ö\»ÃÚ[PÒ:     

©øÓ•P ÷Áø»¯õÒ – 12,000 – 

Ev›£õP[PÒ Em£mh Qh[S – 4,000 – 

Aøμ&©õÖ® ö\»ÃÚ[PÒ :    

\Uv (30% {ø»¯õÚ 70% 
©õÖ®) – 20,000 – 

£Êx ©ØÖ® £μõ©›¨¦  (60% 
{ø», 40% ©õÖ®) – 2,000 – 

{ø»¯õÚ ö\»Ã[PÒ :    



A–9732 

  

  10

 
70% 

öPõÒÍÍÄ 
¹. 

80% 
öPõÒÍÍÄ 

¹. 

90% 
öPõÒÍÍÄ 

¹. 

  ÷u´©õÚ® – 11,000 – 

  Põ¨¥k – 3,000 – 

  \®£Í® – 10,000 – 

ö©õzu ÷©Øö\»ÄPÒ – 62,000 – 

 AÝ©õÛUP¨£mh ÷|μi öuõÈ»õÍºPÎß ÷|μ® 1,24,000 
©o.  

20. Project X initially costs Rs. 25,000. It generated the 
following cash inflows: 

Year Cash inflows Present value of Rs. 1 
at 10% 

1 Rs. 9,000 0.909 

2 Rs. 8,000 0.826 

3 Rs. 7,000 0.751 

4 Rs. 6,000 0.683 

5 Rs. 5,000 0.621 

 Taking  the cut-off rate as 10% suggest whether the 
project should be accepted or not. find out NPV. 

 vmh® X&ß •ußø© ö\»Ä ¹. 25,000. Cx CÆÁõÖ 
£n ÁμÂøÚ ö£¸UQ¯x.  

Á¸h® £n Kmh® uØ÷£õøu¯ ©v¨¦ ¹. 
1, 10%À 

1 ¹. 9,000 0.909 

2 ¹. 8,000 0.826 

3 ¹. 7,000 0.751 
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Á¸h® £n Kmh® uØ÷£õøu¯ ©v¨¦ ¹. 
1, 10%À 

4 ¹. 6,000 0.683 

5 ¹. 5,000 0.621 

 SøÓUP¨£mh ÂQu® 10% BP öPõsk, Czvmhzøu 
J¨¦ öPõÒÍ»õ©õ, ÷Ásh©õ GÚ £›¢xøμUP. 
uØ÷£õøu¯ {Pμ ©v¨ø£ PnUQmk u¸P.  

———————— 
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B.Com. (CS) DEGREE EXAMINATION, APRIL 2021 & 

Supplementary/Improvement/Arrear Examinations 

Sixth Semester 

Corporate Secretaryship 

BUSINESS ETHICS 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer ALL the questions. 

1. Define Business ethics 

 ÁoP ö|Ô•øÓPøÍ Áøμ¯Ö. 

2. What do you mean by Teleological? 

 ÷|õUPÂ¯À £ØÔ }Ãº AÔÁÚ ¯õøÁ? 

3. What do you mean by Business environment in Human 
Resources? 

©Ûu ÁÍzvß ÁoP `ÇÀ £ØÔ }Âº AÔÁÚ ¯õx? 

4. What is Natural Law? 

C¯ØøP \mh® GßÓõÀ GßÚ? 

5. What is Hoarding? 

 £xUPÀ GßÓõÀ GßÚ? 

6. What do you mean by Crime of Bribery? 

 »g\® öPõkUS® SØÓ® £ØÔ }Ãº AÔÁÚ ¯õøÁ? 

Sub. Code 
4BCS6C4 



A–9830 

  

  2

7. What is Corporate Governance? 

 {ÖÁÚ BÐøP GßÓõÀ GßÚ? 

8. Expand CSR. 

 CSR Â›ÁõUP® u¸P. 

9. What is Gender equality? 

 £õ¼Ú \©zxÁ® GßÓõÀ GßÚ? 

10. Give some examples about working condition. 

 ÷Áø»a `Ç¾UPõÚ GkzxUPõmkPÒ ]»ÁØøÓ u¸P. 

 Part B (5  5 = 25) 

Answer ALL the questions, choosing either (a) or (b). 

11. (a) Explain the objectives of Business ethics. 

   öuõÈÀ uº©[PÎß ÷|õUP[PøÍ ÂÍUSP. 

Or 

 (b) Explain Benefits of values. 

   ©v¨¦PÎß |ßø©PøÍ ÂÍUSP. 

12. (a) Describe the characteristics of Natural Laws. 

   C¯ØøP \mhzvß £s¦PøÍ ÂÍUSP. 

Or 

 (b) Explain utilitarianism theory.  

   £¯öÚÔ•øÓ ÷Põm£õmiøÚ ÂÍUSP. 

13. (a) Discuss the problems of Black Marketing and 
Hoarding. 

   P¸¨¦ \¢øu¨£kzxuÀ ©ØÖ® £xUP¼ÚõÀ 
EshõS® ]UPÀPøÍ ÂÁ›. 

Or 

 (b) Bring out the features of Social Audit. 

   \‰P uoUøP°ß A®\[PøÍ öÁÎUöPõnºP. 
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14. (a) Detail about characteristics of Social Responsibility. 

   \‰P ö£õÖ¨¦PÎß £s¦PøÍ Â›ÁõP ÂÍUSP. 

Or 

 (b) Discuss bribery in business. 

   »g\® öPõsh ÁoPzvøÚ ÂÁ›UP. 

15. (a) Explain the Environmental ethical issues. 

   _ØÖa`ÇÀ ö|Ô°À EÒÍ ¤μa]øÚPøÍ ÂÍUSP. 

Or 

 (b) Explain the moral issues behind child labour. 

   SÇ¢øu öuõÈ»õÍºPÎh® ©øÓ¢xÒÍ uõº«P 

¤μa\øÚPøÍ ÂÍUSP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the characteristics of Business ethics. 

 ÁoP ö|ÔPÎß £s¦PøÍ ÂÍUSP. 

17. Describe various theories of ethics. 

 £À÷ÁÖ ö|Ô•øÓ ÷Põm£õkPøÍ ÂÍUSP. 

18. Discuss the measures to reduce Black Marketing and 

Hoarding. 

P¸¨¦ \¢øu ©ØÖ® £xUPÀPøÍ SøÓUS® PõμoPøÍ 

ÂÁ›. 
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19. Explain in detail about the key elements of Corporate 

Governance. 

ö£¸{ÖÁÚ BÐøP°ß •UQ¯ TÖPøÍ Â›ÁõP 
ÂÍUSP. 

20. Explain the firms duties and responsibilities to the 
employees.  

öuõÈ»õÍºPÎß «uõÚ {ÖÁÚzvß Phø©PÒ ©ØÖ® 
ö£õÖ¨¦PøÍ ÂÁ›. 

 

 

 
———————— 
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Allied — TOURISM MARKETING 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is Marketing? 

 \¢øu°køP GßÓõÀ GßÚ? 

2. Who is a Tourist? 

 _ØÖ»õ¨£¯o Gß£Áº ¯õº? 

3. What is a Product? 

 u¯õ›¨¦ GßÓõÀ GßÚ? 

4. What is Package Tour? 

 öuõS¨¦ _ØÖ¨£¯n® Gß£x ¯õx? 

5. What is a Strategy? 

 EzvPÒ GßÓõÀ GßÚ? 

6. Write a short note on Pricing. 

 Âø»°hÀ – ]Ö SÔ¨¦ ÁøμP. 

7. Who is an Agent? 

 •PÁº Gß£Áº ¯õº? 

Sub. Code 
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8. Write a short note on Travel Guide. 

 £¯n ÁÈPõmi – ]Ö SÔ¨¦ ÁøμP. 

9. What is Sales Promotion? 

 ÂØ£øÚ FUSÂ¨¦ GßÓõÀ GßÚ? 

10. What is Advertising? 

 ÂÍ®£μ® GßÓõÀ GßÚ? 

 Part B (5  5 = 25) 

Answer all questions. 

11. (a) Explain the importance of Tourism Marketing. 

   _ØÖ»õa \¢øu°køP°ß •UQ¯zxÁzøu ÂÍUSP. 

Or 

 (b) What are the effects of Tourism? Explain. 

   _ØÖ»õÂß ÂøÍÄPÒ ¯õøÁ? ÂÍUSP. 

12. (a) What are the causes of product failure?  Explain. 

   u¯õ›¨¦ ÷uõÀÂUPõÚ Põμn[PÒ ¯õøÁ? ÂÍUSP. 

Or 

 (b) Describe the features of Product Development. 

   u¯õ›¨¦ ÁÍºa]°ß A®\[PøÍ ÂÁ›UPÄ®. 
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13. (a) Explain the objectives of Pricing. 

   Âø»°h¼ß ÷|õUP[PøÍ ÂÍUSP. 

Or 

 (b) Describe the importance of Pricing strategy. 

   Âø» Ezv°ß •UQ¯zxÁ® ÂÁ›UP. 

14. (a) Discuss the importance of Travel Agency. 

   £¯n •Pø©°ß •UQ¯zxÁzøu ÂÁõvUPÄ®. 

Or 

 (b) Explain the features and role of a Travel Guide. 

   £¯n ÁÈPõmi°ß A®\[PÒ ©ØÖ® £[øP 
ÂÍUSP. 

15. (a) Explain the advantages of Advertising. 

   ÂÍ®£μzvß |ßø©PÒ £ØÔ ÂÍUSP. 

Or 

 (b) Explain the objectives of Sales Promotion. 

  ÂØ£øÚ FUSÂ¨¦ ÷|õUP[PøÍ ÂÍUSP.  

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the features of Tourism Marketing. 

 _ØÖ»õ \¢øu°køP°ß A®\[PøÍ ÂÍUSP. 

17. Explain Product Life Cycle. 

 u¯õ›¨¦ ÁõÌUøP _ÇØ]ø¯ ÂÍUSP. 

18. Write a detailed note on the role of Pricing in Tourism. 

 _ØÖ»õÂÀ Âø» {ºn°US® £[øP £ØÔ Â›ÁõÚ 
ÂÍUP® GÊxP. 
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19. What are the factors that influence Tourism Distribution 
strategy?  Explain. 

 _ØÖ»õ Â{÷¯õP Ezvø¯ £õvUS® PõμoPÒ ¯õøÁ? 
ÂÍUSP. 

20. Explain the classification of Media. 

 FhP ÁøP¨£kzuø» ÂÍUSP.  

 

 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Book Keeping? 

 ¦zuP £vÂ¯À GßÓõÀ GßÚ? 

2. Define Accounting. 

 PnUQ¯À ÁøμÂ»UPn® u¸P.  

3. What is Double Entry System? 

 Cμmøh £vÄ •øÓ GßÓõÀ GßÚ? 

4. What is Journal? 

 SÔ¨÷£k GßÓõÀ GßÚ? 

5. What do you mean by Subsidiary Book? 

 xøn HkPÒ Gß£x £ØÔ E©x P¸zx ¯õx? 

6. What is Petty Cash Book? 

 ]À»øμ öμõUP Hk GßÓõÀ GßÚ? 

Sub. Code 
4BCSA2 



A–9833 

  

  2

7. Write a Note on Bank Overdraft? 

 Á[Q ÷©ÀÁøμ£ØÖ SÔ¨¦ ÁøμP.  

8. Define Pass Book. 

 ö\À÷»k ÁøμÂ»UPn® u¸P.  

9. What is trading account? 

 Â¯õ£õμ PnUS GßÓõÀ GßÚ? 

10. What do you mean by outstanding expenses? 

 öPõk£h ÷Ási¯ ö\»ÄPÒ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions. 

11. (a) What are the differences between book Keeping and 
accounting? 

  PnU÷PkPÒ £μõ©›¨¦ ©ØÖ® PnUQ¯¾UPõÚ 
÷ÁÖ£õkPÒ ¯õøÁ? 

Or 

 (b) What are the basic principles of Double Entry 
System of Book Keeping? 

  Cμmøh £vÄ •øÓ°ß Ai¨£øh ÂvPÒ ¯õøÁ? 

12. (a) What are the difference between Trial balance and 
Balance Sheet? 

  C¸¨£õ´Ä £mi¯¾US®, C¸¨¦ {ø»U 
SÔ¨¤ØS® EÒÍ ÷ÁÖ£õkPøÍU TÖP. 

Or 
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 (b) Journalise the following Transactions. 

  01.01.2004  Tmt. Ananthi commenced business 
with cash Rs. 50,000 

  02.01.2004  Purchased goods for cash Rs. 10,000 

  05.01.2004  Purchased good from Mohan on Credit 
Rs. 6000 

  07.01.2004 Paid in to Bank Rs. 5,000 

  10.01.2004 Purchased furniture Rs. 2,000 

  20.01.2004  Sold goods to Suresh on credit  
    Rs. 5,000 

  25.01.2004 Cash Sales Rs. 3,500 

  26.01.2004  Paid to Mohan on account Rs. 3,000 

  31.01.2004 Paid Salaries Rs. 2,800. 

  RÌPõq® |hÁiUøPPøÍ •uØSÔ¨÷£miÀ £vÄ 
ö\´P.  

  01.01.2004 v¸©v BÚ¢v öμõUPzxhß öuõÈÀ 

öuõh[Q¯x ¹. 50,000 

  02.01.2004  öμõUP©õP \μUS Áõ[Q¯x ¹. 10,000 

  05.01.2004  ÷©õPß Gß£Á›hª¸¢x PhÚõP 

öPõÒ•uÀ ö\´ux ¹. 6,000 

  07.01.2004  Á[Q°À ö\¾zv¯x ¹. 5,000 

  10.01.2004  AøÓP»ß Áõ[Q¯x ¹. 2,000 

  20.01.2004 _÷μèUS PhÚõP ÂØ£øÚ ö\´ux  

¹. 5,000 

  25.01.2004  öμõUP ÂØ£øÚ ¹. 3,500 

  26.01.2004  ÷©õPÝUSa ö\¾zv¯x ¹. 3,000 

  31.01.2004  Fv¯® ÁÇ[Q¯x ¹. 2,800. 
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13. (a) What are the different types of Subsidiary Books? 

  xøn HkPÎß £À÷ÁÖ ÁøPPøÍ _¸UP©õÚ 
ÂÍUSP.  

Or 

 (b) Write the following transaction in proper subsidiary 
books of Mr. Rajesh. 

  10.05.2008 Purchased goods from Raman Rs. 15,000 

  14.05.2008 Returned goods to Raman Rs.  500 

  18.05.2008 Purchased goods from Sekaran Rs. 10,000 

  20.05.2008 Predeep sold goods to us Rs. 20,000 

  24.05.2008 Sent a debit to Sekarn  

  for Goods damaged in transit Rs.  1,000 

  v¸ μõ÷áè E›¯ xøn HkPÎÀ RÌPõq® 
|hÁiUøPPøÍ £vÄ ö\´P.  

  10.05.2008 μõ©Ûhª¸¢x Áõ[Q¯ \μUS ¹.  15,000 

  14.05.2008 μõ©ÝUS v¸¨¤¯ \μUS  ¹.  500 

  18.05.2008 ÷\PμÛhª¸¢x \μUS Áõ[Q¯x ¹. 10,000 

  20.05.2008 ¤μw¨ |©US \μUS ÂØÓx  ¹.  20,000 

  24.05.2008 \μUS AÝ¨¦øP°À ÷\u® 

  HØ£mhõÀ ÷\PμÝUS AÝ¨£¨£mh  

  £ØÖ SÔ¨¦   ¹.  1,000 

14. (a) Prepare Thiru Ram Bank Reconciliation Statement 
from the following cash book transaction for 
November 1999. 

  (i) Cash book showed an overdraft of Rs. 9,500 

  (ii) The Payment side of the cash book had been 
under cast by Rs. 1,150. 
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  (iii) Cheques amounting to Rs. 7,750 drawn and 
entered in the cash book had not yet been 
presented. 

  (iv) Bank charges not yet recorded in cash book 
Rs. 75 

  (v) Interest Rs. 2,500 had been paid direct into 
the bank and not entered in the cash. 

  R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎ¼¸¢u v¸. μõ® 
Gß£Á›ß öμõUP Hmiß |Á®£º 1999® Á[Q 
\›UPmk® £mi¯À JßÔøÚ u¯õ›UP.  

  (i) öμõUP Hmiß £i Á[Q ÷©ÀÁøμ £ØÖ ¹. 
9,500 

  (ii) öμõUP Hmiß ö\¾zxuÀPÒ £Sv SøÓ¢x 
Põmh¨£mkÒÍx ¹. 1,150 

  (iii) öμõUP Hmiß Â{÷¯õQUP¨£mh Põ÷\õø»PÒ 
CßÝ® Á[Q°À ö\¾zu¨£hÂÀø» ¹. 
7,750  

  (iv) Á[Q Pmhn® ¹. 75 öμõUP HmiÀ CßÝ® 
£v¯¨£hÂÀø» 

  (v) Á[Q°À ÷|μi¯õP ö\¾zv¯ ¹. 2,500 Ámi 
öμõUP HmiÀ £v¯ÂÀø».  

Or 

 (b) Prepare a Trading Account for the year ended 
31.03.1989. 

  Opening stock Rs. 2,50,000 

  Closing Stock Rs. 4,75,000 

  Purchases  Rs. 3,70,000 

  Purchase Return Rs. 30,000 

  Sales   Rs. 5,10,000 

  Sales Returns Rs. 50,000 

  Wages  Rs. 75,000 

  Carriage Inwards Rs.  10,000 

  Factory Charges Rs. 5,000. 
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  RÌPõq® ÂÁμ[PÎ¼¸¢x 31.03.1989® 
BsiØPõÚ Â¯õ£õμ PnUøP u¯õ›UPÄ®.  

  öuõhUP \μUQ¸¨¦  ¹. 2,50,000 

  CÖv \μUQ¸¨¦  ¹. 4,75,000 

  öPõÒ•uÀ   ¹. 3,70,000 

  öPõÒ•uÀ v¸¨£® ¹. 30,000 

  ÂØ£øÚ   ¹. 5,10,000 

  ÂØ£øÚ v¸¨£®  ¹. 50,000 

  T¼    ¹. 75,000 

  EÒHØÖaö\À ö\»Ä ¹.  10,000 

  öuõÈØ\õø» ö\»ÄPÒ ¹. 5,000. 

 

15. (a) Distinguish between Capital Expenditure and 
Revenue Expenditure. 

  •u¼Ú ö\»Ä ©ØÖ® Á¸Áõ°Ú ö\»Ä 
÷ÁÖ£kzxP. 

Or 

 (b) From the following information calculate the 
amount to be credited to income and expenditure 
account for the year ended 31st December 2007. 

  Amount of Subscription received  

  during 2007   Rs. 15,000 

  Subscription outstanding on 31.12.2007 Rs.  1,000 

  Subscription outstanding on 31.12.2006 Rs.  500 

  Subscription received in advance  

  on 31.12.2007   Rs.  2,000 

  Subscription received in advance  
  on 31.12.2006   Rs. 3,000 
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  ¤ßÁ¸® uPÁÀPÎß£i Á¸Áõ´ ö\»ÂÚ  
PnUQÀ ÁμÄ øÁUP ÷Ási¯ \¢uõ öuõøPø¯ 
31.12.2007 PshÔP.  

  2007 BsiØPõÚ \¢uõ  ¹.  15,000 

  31.12.2007 {¾øÁ°¾ÒÍ \¢uõ ¹.  1,000 

  31.12.2006 {»øÁ°¾ÒÍ \¢uõ  ¹.  500 

  31.12.2007 •ßTmi÷¯ ö£ØÓ \¢uõ ¹.  2,000 

  31.12.2006 •ßTmi÷¯ ö£ØÓ \¢uõ  ¹. 3,000 

 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Prepare the Journal accounts and Balance as on 31st 
December 2008. 

2008  Rs. 

Dec. 1 Ranjini Started business with a capital of 50,000

Dec. 2 She purchased furniture for 5,000 

Dec. 3 She bought goods on credit from Vinod for 8,000 

Dec. 14 She sold goods to Suresh for 5,000 

Dec. 15 She received cash from Suresh 3,000 

Dec. 18 She purchased goods for cash 12,000

Dec. 27 She sold goods for cash 8,000 

Dec. 28 She paid rent 1,200 

Dec. 31 She paid Vinod on account 3,000 
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 R÷Ç öPõkUP¨£mkÒÍ |hÁiUøPPÐUS 31.12.2008 
AßÖ SÔ÷£mk u¯õ›UP.  

2008  ¹. 

i\®£º 1 μg\Û •u¾hß Â¯õ£õμ® xÁUQ¯x 50,000

i\®£º 2 AøÓP»ß Áõ[QÚõº 5,000

i\®£º 3 Â÷Úõz Gß£Á›hª¸¢x PhÝUS Áõ[Q¯ 
\μUS 

8,000

i\®£º 
14 

_÷μèUS \μUS ÂØÓx 5,000

i\®£º 
15 

_÷μæhª¸¢x öuõøP ö£ØÓx 3,000

i\®£º 
18 

öμõUPzvØS \μUS Áõ[Q¯x 12,000

i\®£º 
27 

öμõUPzvØS \μUS ÂØÓx 8,000

i\®£º 
28 

ÁõhøP ö\¾zv¯x 1,200

i\®£º 
31 

Â÷ÚõzvØS ö\¾zv¯x  3,000

17. “From the following Prepare Trial Balance. 

 Drawings   Rs. 27,760 

 Land    Rs. 45,000 

 Opening Stock  Rs. 62,000 

 Debtors   Rs. 90,000 

 Bank    Rs. 21,000 

 Capital   Rs. 34,000 

 Car    Rs. 25,250 

 Rent    Rs. 9,000 

 Creditors   Rs. 35,000 

 Purchases   Rs. 43,000 

 Sales    Rs. 6,10,000 
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 ¤ßÁ¸® uPÁÀPÎß£i C¸¨£õ´Ä u¯õº ö\´P.  

 Gk¨¦   ¹. 27,760 

 {»®    ¹. 45,000 

 Bμ®£ \μUQ¸¨¦ ¹. 62,000 

 PhÚõÎPÒ   ¹. 90,000 

 Á[Q°¸¨¦  ¹. 21,000 

 ‰»uÚ®   ¹. 34,000 

 Põº    ¹. 25,250 

 ÁõhøP   ¹. 9,000 

 PhÜ¢÷uõº   ¹. 35,000 

 öPõÒ•uÀ   ¹. 43,000 

 ÂØ£øÚ   ¹. 6,10,000 

18. On 31st March 2004 the pass book of Mr. Sai Ram showed 
a credit balance of Rs. 9,250. A comparison of pass book 
and cash book revealed the following. 

 (a) Cheques deposited but not yet collected till 
3l.3.2004 Rs. 1,500 

 (b) Cheques issued but not yet presented for payment 
till 31.3.2004 Rs. 2,000 

 (c) A direct payment of Rs. 240 by the bank for 
Insurance premium was not recorded in cash book. 

 (d) Bank charges not yet recorded in cash book Rs. 10 

 (e) Interest collected by the bank directly was not yet 
recorded in cash book Rs. 500 

  Prepare Bank Reconciliation Statement. 
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 31 ©õºa 2004 AßÖ v¸. \õ´μõ® Gß£Á›ß ö\À÷»k 
PõmkÁx ¹. 9,250 ÁμÄ C¸¨¦ öμõUP Hk ©ØÖ® 
ö\À÷»kPÎÀ J¨¤ku¼ß öu›¯Á¢u Â£μ[PÒ.  

 (A) 31 ©õºa 2004 Áøμ Á`¼UP¨£hõu Á[Q°¼mh 
Põ÷\õø»PÒ ¹. 1,500  

 (B) Â{÷¯õQUP¨£mh Põ÷\õø»PÎÀ 31.3.2004 Áøμ 
£n©õUP¨£hõuøÁPÒ ¹. 2,000 

 (C) Á[Q ‰»® ÷|μi¯õP ö\¾zu¨£mh Põ¨¥k 
•øÚ©® ¹. 240 öμõUP HmiÀ £v¯¨£hÂÀø» 

 (D) Á[Q Pmhn® ¹. 10 öμõUP HmiÀ 
£v¯¨£hÂÀø» 

 (E) Á[Q¯õÀ ÷|μi¯õP Á`¼UP¨£mh ¹. 500 Ámi 
öμõUP HmiÀ £v¯¨£hÂÀø»  

  Á[Q \›Pmk AÔUøP u¯õ›UP.  

19. The following is the Trial Balance of Jute as on 31.3.2006. 

Trial Balance 

Debit Rs. Credit Rs. 

Cash in Hand 540 Sales 98,780

Cash at Bank 2,630 Return outwards 500

Purchase 40,675 Capital 71,000

Return inwards 680 Sundry creditors 6,300

Wages 10,480   

Carriage on sales 3,200   

Fuel and Power 4,730   

Carriage on purchases 2,040   

Stock 5,760   

Building 30,000   
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Debit Rs. Credit Rs. 

Land 10,000   

Machinery 27,500   

Salaries 15,000   

General Expenses 3,000   

Insurance 600   

Drawing  5,245   

Sundry debtors 14,500   

Total 1,76,580  1,76,580

 Adjustments : 

 The stock on 31.1.2006 is Rs. 6,800 

 Prepare the Final Accounts. 

 v¸. ãm Gß£Á›ß RÌPsh C¸¨¦ ÷\õuøÚ°ß C¸¢x 
Â¯õ£õμ PnUS, C»õ£ |mh PnUS ©ØÖ® 31.3.2006 
AßÖÒÍ CÖv {ø»USÔ¨¦ u¯õ›UPÄ®.  

C¸¨£õ´Ä 

£ØÖ ¹. ÁμÄ ¹. 

öμõUP C¸¨¦ 540 ÂØ£øÚ 98,780

Á[Q C¸¨¦ 2,630 öPõÒ•uÀ 
v¸¨£® 

500

öPõÒ•uÀ 40,675 •uÀ 71,000

ÂØ£øÚ v¸¨£® 680 PhÜ¢÷uõº 6,300

T¼ 10,480   

ÂØ£øÚ «uõÚ 
ö\»Ä 

3,200   

G›¨ö£õ¸Ò ö\»Ä 4,730   
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£ØÖ ¹. ÁμÄ ¹. 

öPõÒ•uÀ «uõÚ 
T¼ 

2,040   

\μUS 5,760   

Pmih® 30,000   

{»® 10,000   

C¯¢vμ® 27,500   

\®£Í® 15,000   

ö£õx ö\»ÄPÒ 3,000   

Põ¨¥k 600   

Gk¨¦ 5,245   

PhÚõÎPÒ 14,500   

ö©õzu® 1,76,580  1,76,580

 31.3.2006 AßøÓ¯ \μUQ¸¨¦ ¹. 6,800. 

20. Explain the procedure for converting Single Entry 
System into Double Entry System. 

 JØøÓ £vÄ •øÓø¯, Cμmøh £vÄ •ø¯õP ©õØÖ® 
|øh•øÓø¯ ÂÁ›.  

———————— 
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Allied – LAWS FOR COMMON MAN 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is Right to equality? 

 \©zxÁzvØPõÚ E›ø© Gß£x ¯õx? 

2. What is Right to Exploitation? 

 _μsku¾US GvμõÚ E›ø© Gß£x ¯õx? 

3. What are the various organs of the Indian Constitution? 

 C¢v¯ Aμ\ø©¨¦a \mhzvß £À÷ÁÖ EÖ¨¦PÒ ¯õøÁ? 

4. What is the jurisdiction of Supreme Court of India? 

C¢v¯ Ea\ }v©ßÓzvß \mh Bm] GÀø» ¯õx? 

5. What are the objectives of RTI Act, 2005? 

 uPÁÀ AÔ²® E›ø©a \mh®, 2005–ß ÷|õUP[PÒ ¯õøÁ? 

6. What is Third Party Information? 

 ‰ßÓõ® |£º uPÁÀ Gß£x ¯õx? 

7. Define Complaint and Complainant with suitable 
example. 

•øÓ±k ©ØÖ® •øÓ±mhõÍº uUP GkzxUPõmkhß 
Áøμ¯ÖUP. 

Sub. Code 
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8. State the need for Consumer Protection Act. 

 ~Pº÷Áõº £õxPõ¨¦a \mhzvØPõÚ ÷uøÁø¯U TÖP. 

9. What does ‘Environment’ include and what do you mean 
by environment   pollutant? 

_ØÖ¨¦Óa `Ç¼ß AhUP[PÒ ¯õøÁ ©ØÖ® _ØÖ¨¦Óa 
`ÇÀ ©õ_¨ö£õ¸mPÒ Gß£x £ØÔ }Âº AÔÁx ¯õx? 

10. What do you mean by ‘water pollution’ and ‘sewage 
effluent’? 

}º ©õ_£kuÀ ©ØÖ® PÈÄ}º ÁÈÄ Gß£x SÔzx }Âº 
AÔÁx ¯õx? 

 Part B (5  5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) What are the essential characteristics of Federal 
Constitution? 

   Tmhõsø© Aμ\ø©¨¦a \mhzvß •UQ¯ 
Sn|»ßPÒ ¯õx? 

Or 

 (b) Explain Right to Freedom of Religion, Cultural and 
Educational Rights. 

   \©¯® \õº¢u _u¢vμ®, £s£õmka _u¢vμ®, ©ØÖ® 
PÀÂ E›ø©PøÍ ÂÁ›UP. 

12. (a) Explain the distribution of Financial powers 
between Centre and State in the Indian 
Constitution. 

   C¢v¯ Aμ\ø©¨¦a \mhzvÀ {v AvPõμ®  
GÆÁõÖ ©zv¯ ©ØÖ® ©õ{»[PÐUS 
£Qº¢uÎUP¨£mkÒÍx Gß£øu ÂÍUSP. 

Or 

 (b) Explain the supremacy of Constitution over the 
Parliament.  

   £õμõÐ©ßÓzøu Âh Aμ\ø©¨¦a \mh® 
uÛ•ußø© GÆÁõÖ ö£ØÖÒÍx Gß£øu ÂÍUSP. 
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13. (a) What is the time period for supply of information 
under RTI Act? 

   uPÁÀ AÔ²® E›ø©a \mhzvÀ uPÁÀ 
AÎ¨£uØPõÚ Põ» AÁPõ\® ¯õx? 

Or 

 (b) Under which circumstances the Public Information 
Officer can refuse to give information requested by 
an applicant? 

   ö£õx uPÁÀ A¾Á»º G¢u u¸n[PÎÀ uPÁÀ 
÷Põ¸£Á¸US uPÁÀ AÎUP ©ÖUP»õ®? 

14. (a) What are the Consumer Rights covered under 
Consumer Protection Act? 

   ~Pº÷Áõº £õxPõ¨¦a \mhzvß RÌ ~Pº÷Áõº 
E›ø©PÒ ¯õøÁ? 

Or 

 (b) Discuss the composition and jurisdiction of National 
Commission under Consumer Protection Act. 

   ~Pº÷Áõº £õxPõ¨¦a \mhzvß RÌ ÷u]¯ 
Bøn¯zvß Tmhø©¨¦ ©ØÖ® \mh GÀø»PøÍ 
ÂÁõvUP. 

15. (a) What are the duties of persons carrying on industry 
towards the environment? 

   öuõÈØ\õø» |hzx£Á›PÎß _ØÓ¨¦Óa `ÇÀ 
£oPÒ ¯õøÁ? 

Or 

 (b) What are the provisions regarding penal liability for 
the contravention of the rules, orders and directions 
made there under? 

   ÂvPÒ, BønPÒ ©ØÖ® ÁÈPõmkuÀPøÍ «Ö® 
ö£õÊx _ØÓ¨¦Óa `ÇÀ £õxPõ¨¦a \mhzvÀ 
ushøÚUS›¯ ÁÈÁøPPÒ ¯õøÁ? 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the Directive Principles of State Policy. 

 ©õ{»U öPõÒøP°ß ÁÈPõmkU ÷Põm£õkPøÍ ÂÁ›UP. 

17. Describe the procedure of passing Bills in the Parliament. 

 £õμõÐ©ßÓzvÀ ©÷\õuõ C¯ØÖ® •øÓ°øÚ ÂÁ›UP. 

18. Explain the constitution and powers of Central 
Information Commission. 

©zv¯ uPÁÀ Bøn¯zvß Tmhø©¨¦ ©ØÖ® 
AvPõμ[PøÍ ÂÍUSP. 

19. Discuss in detail the powers and functions of the State 
Commission. 

~Pº÷Áõº £õxPõ¨¦a \mhzvß RÌ C¯[S® ©õ{» 
Bøn¯zvß AvPõμ® ©ØÖ® E›ø©PøÍ Â›ÁõP 
ÂÁõvUP. 

20. Discuss the role of various governmental agencies in 
environmental protection and control. Briefly discuss the 
salient features of Environmental Protection Act.  

_ØÖ¨¦Óa `ÇÀ £õxPõ¨¦ ©ØÖ® Pmk¨£õmiØPõP 
C¯[S® £À÷ÁÖ Aμ_ C¯¢vμ[PÎß £[QøÚ ÂÁõvUP. 
_ØÖ¨¦Óa `ÇÀ £õxPõ¨¦a \mhzvß ]Ó¨¤¯À¦PøÍ 
_¸[PU TÖP. 

 
———————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. Explain the meaning of Human Rights. 

 ©Ûu E›ø©PÒ £ØÔ ö£õ¸Ò u¸P. 

2. What are the needs of Human Rights? 

 ©Ûu E›ø©°ß ÷uøÁPÒ ¯õøÁ? 

3. Narrate the points about international convention of 
1966. 

 \ºÁ÷u\ ©Ûu E›ø©PÒ ¤μPhÚ® 1966&SÔ¨¦ ÁøμP. 

4. Write about the Human Rights protocol? 

 ©Ûu E›ø©PÎß ÁÈ•øÓPÒ £ØÔ GÊxP. 

5. What are called as cultural rights? 

 P»õa\õμ E›ø©PÒ GßÓõÀ GßÚ? 

6. Give any four substantive rights. 

 EÖv¯õÚ E›ø©PÒ H÷uÝ® |õßS GÊxP. 

Sub. Code 
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7. What is called as racism? 

 CÚ öÁÔ GßÓõÀ GßÚ? 

8. Who is called as child? 

 SÇ¢øu GÚ AøÇUP¨£k£Áº ¯õº? 

9. Explain the term ‘In human Acts’. Give any two 
examples. 

 ©Ûuz ußø©¯ØÓ ö\¯À £ØÔ GÊv C¸ GkzxUPõmk 
u¸P. 

10. What is detention? Give any two situations. 

 PõÁ¼À øÁzuÀ Gß£x ¯õx? H÷uÝ® C¸ `Ì{ø»ø¯ 
GÊxP. 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) Explain the legal theory of rights according to 
theories of human right. 

  ©Ûu E›ø©PÒ ÷Põm£õmiß Eøh¯ \mh E›ø©U 
÷Põm£õk £ØÔ ÂÍUSP. 

Or 

 (b) Briefly explain the nature and content of human 
rights. 

  ©Ûu E›ø©PÎß C¯À¦, ußø©PÒ £ØÔ ÂÁ›. 

12. (a) Write a note on UN instruments for protection of 
human rights. 

  I.|õ&Âß ©Ûu E›ø©PÒ £õxPõ¨¤ØPõÚ P¸ÂPÒ 
£ØÔ SÔ¨¦ GÊxP. 

Or 

 (b) Give the other divisions of international 
conventions. 

  \ºÁ÷u\ ©Ûu E›ø©PÒ ¤μPhÚzvß Cuμ ¤›ÄPÒ 
£ØÔ GÊxP. 
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13. (a) Explain the optional protocol to the international 
convent on political rights. 

  Aμ]¯À E›ø©PÒ £ØÔ¯ \ºÁ÷u\ CnUP J¨£¢u® 
£ØÔ GÊxP. 

Or 

 (b) Give the convenant on civil and political rights. 

  ÁõÌÂ¯À ©ØÖ® Aμ]¯À E›ø©PÐUPõÚ \ºÁ÷u\ 
\õ\Ú® £ØÔ ÂÍUSP. 

14. (a) Short note on child rights according to Indian 
constitution. 

  C¢v¯ Aμ]¯»ø©¨¤ß £i SÇ¢øuPÎß E›ø©PÒ 
£ØÔ ]Ö SÔ¨¦ ÁøμP. 

Or 

 (b) Give the detail of UN-Declaration on the rights of 
Mentally retarded person. 

  ©ÚÁÍºa] SßÔ¯ ©ÛuºPÎß I.|õ. ¤μPhÚ[PÒ 
£ØÔ ÂÁ›. 

15. (a) Discuss about the supreme court direction on arrest 
and detentions. 

  Ea\ }v©ßÓzvß øPx ö\´uÀ ©ØÖ® PõÁ¼À 
øÁzuÀ £ØÔ¯ ÁÈPõmkuø» ÂÍUSP. 

Or 

 (b) Give the supreme court guidelines to law enforcing 
officers. 

  \mhzøu |øh•øÓ£kzx® A¾Á»ºPÐUS Ea\ 
}v©ßÓ® öPõkUS® ÁÈPõmkuø» ÂÍUSP. 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Briefly explain the theories of Human Rights. 

 ©Ûu E›ø©PÒ £ØÔ¯ ÷Põm£õkPøÍ ÂÁ›. 

17. Give the universal declaration of Human Rights. 

 \ºÁ÷u\ ©Ûu E›ø©PÒ ¤μPhÚ® £ØÔ GÊxP. 

18. Explain the declaration of rights of the child 1959. 

 SÇ¢øuPÒ E›ø©PÒ ¤μPhÚ® 1959 £ØÔ GÊxP. 

19. Discuss the historical aspects of human rights protection. 

 ©Ûu E›ø©PÒ £õxPõ¨¦ öuõhº£õÚ Áμ»õØøÓ ÂÁ›. 

20. Give the declaration on the protection against torture and 
other cruel, in human or degrading treatment or 
punishment. 

 ]zμÁøu ©ØÖ® öPõlμ©õÚ ©Ûuz ußø©¯ØÓ ushøÚU 
öPvμõÚ £õxPõ¨¦ £ØÔ GÊxP. 

———————— 


